AP Macroeconomics

Absolute/Comparative Advantage Notes (Ch. 37)

Painting

CPA  

30 hours * ($50 for the accounting she could be doing) = 
$1500

Painter 
40 hours * $15 = 





$600

Accounting

Painter 
10 hours * ($15 for the painting he could be doing) = 
$150

CPA 

2 hours * $50 =





$100

The CPA has an absolute advantage in painting and accounting.

CPA has a comparative advantage in accounting (her time is better spent accounting).

Painter has a comparative advantage in painting (his time is better spent painting).

Absolute advantage = whoever flat out makes more output (if you’re dealing with an output problem);  

or whoever takes less of the resource given to make 1 unit of the product (if you’re dealing with an input problem)

Comparative advantage = 
for output problems calculate the ratio other good/good;





for input problems calculate the ratio good/other good

Whichever entity has the smaller opportunity cost will specialize in producing that good and then trade with the other country for the other good.

Remember, an entity can have an absolute advantage in both products, but an entity can only have the comparative advantage in one product.

That is the nature of comparative advantage.

Once you calculate the opportunity costs of both entities for one product, slap them on the appropriate side of an inequality and you have created the acceptable terms of trade for both entities with respect to that good.

Example: opportunity cost of A for wheat < X < opportunity cost of B for wheat


The terms of trade must fit in the middle of this inequality to be acceptable to both countries.

